Algebra 1 Name

Standard Form to Slope-Intercept Form Date
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Write the slope-intercept form of the equation of each line.

1) 3x+4y=28 2) 15x+8y =56
3) 10x+3y=2 4) llx+y=-5
5) 16x+9y =40 6) 13x+5y=-40
7) 3x—y=3 8) y=2

9) 9x+5y=35 10) 10x—-7y=-35
11) x-6y=-12 12) 5x+y=7
13) x=4 14) 4x+ Ty =-7
15) 11x+ 6y =-48 16) y=6

17) 8x+3y=-15 18) x—4y=12
19) 4x+y=5 20) x+T7y=-7
21) 16x+5y=-40 22) x+y=17

23) 2x-3y=-6 24) 3x+2y=28
25) 1lx+7y=-56 26) 3x+2y=4
27) 1lx—4y=-24 28) x -8y =40

29) 11x+4y=10 30) 12x—5y=-44
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Period



3
1) y=—2x+2
5) y=—£x+ﬂ
9 9
9) y=—2x+7
5
13) x=4
8
17) yz—gx—S

16
21) yz—?x—8

11
25) y=—7x—8

11 5
29) yZ—Tx-i-E

15
2) y=-gx+7

6) Bos
=———X —
Y77

10
10) y=7x+5

14) yz—ix—l
7

18) yzlx—3
4

22) y=—x+7

3
26) y:—5x+2

30 12 44
y=—_x+—_
575
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3 10 +2
=——X -
T
7) y=3x-3
11) L2
=—x
Y 6

15) 1 8
=——X —

Y%

19) y=—4x+5

2
23) y=§x+2

27) 1 +6
y=—_x
4

Answers to Standard Form to Slope-Intercept Form

4) y=—11x-5
8) y=2
12) y=-5x+7

16) y=6

1

20) y=—7x—1
3

24) y=—"—x+4
)y 5

1
28) yzgx—S



